Obee 1

DQJ[GP SGC] l)OUPﬂG

SYMPHONY ne.6



In a” chanqes of siqnaiupe, wiﬂ]ouf excep’lion, J alwaqs = J elc. (so never 6/8:2/4)

A” staccalo noles are simplq plaqed as ”a shOPf nofe” wiﬂ] no diﬂerenhaiion in Glumfion - ﬂ]eq are nofafecl

as .ﬁ, ') or '). pur’elq ][OP ease O{ r’eadinq

A” fuplej[ nojles sl]oulcl IDG plaqecl exac”q evenlq Wlﬂ‘l ”‘IQ sfpess C]lWC]lJS on ﬂ]e l[irsf nofe (SO {OP example 5 is never 2+3)

Enharmonics are used in ﬂ]e pOPiS an@l ﬂ]us wi” diﬁer somelimes I[Pom ﬂw condudorls score. In ﬂ]e score hopmonq faLes

precec]ence; in the parts musical line.
Some cues are wrillen af an oclave JImnsposijlion fo ease Peoclalnilijlq - Jl|1ese are nol maPl«zd.

Reminder accidentals in l)mcl«zjls, occosionolq appearing seeminq]q Pandomlq, usuo”q claril[q some pofenfia”q omlaiquous

Pelajlionship to another part.
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